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Overview

We tested the electronics in four different
configurations, using 8 MeV photons or electrons,
on the detector or outside the detector.

We launched a pedestal acquisition at 150 Hz,
with several files of 10000 events each one.

Because we do not have a coincidence system,
we do not know when (and if) the particles arrived
on our detector for each acquired event.

The results discussed In the next pages are
similar both for electrons and photons beams.
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8 MeV photon outside detector
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8 MeV photon outside detector
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If we zoom on these

two peaks we can
check the RMS
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Is this representatlve of the n0|semf1at we

would have with a working electronics?
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